
20
23

M
ay
 



May 2023

RODRUNNER REF NO: TR-B-441 ADAPTABLE BMW

Tie Rod End

Weight: 1,35

X1

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

U11 2022- Front Right 32105A1F917

Length: 236 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

RODRUNNER REF NO: TR-B-441 ADAPTABLE BMW

Tie Rod End

Weight: 1,35

2-SERIES ACTIVE
TOURER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

U06 2021- Front Right 32105A1F917

Length: 236 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

www.rodrunnerparts.com 1



May 2023

RODRUNNER REF NO: TR-B-442 ADAPTABLE BMW

Tie Rod End

Weight: 1,35

X1

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

U11 2022- Front Left 32105A1F916

Length: 236 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

RODRUNNER REF NO: TR-B-442 ADAPTABLE BMW

Tie Rod End

Weight: 1,35

2-SERIES ACTIVE
TOURER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

U06 2021- Front Left 32105A1F916

Length: 236 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

www.rodrunnerparts.com 2



May 2023

RODRUNNER REF NO: LS-CD-1006A ADAPTABLE CADILLAC

Stabilizer Bar Link

Weight: 0,313

CTS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2014-2019 Front Right 20887087

Length: 225 Bolt Metric: M12X1,75

Steel Type

RODRUNNER REF NO: LS-CD-1006A ADAPTABLE CADILLAC

Stabilizer Bar Link

Weight: 0,313

ATS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st gen 2013-2019 Front Right 20887087

Length: 225 Bolt Metric: M12X1,75

Steel Type

www.rodrunnerparts.com 3



May 2023

RODRUNNER REF NO: LS-CD-1006A ADAPTABLE CADILLAC

Stabilizer Bar Link

Weight: 0,313

CT5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st gen 2020- Front Right 20887087

Length: 225 Bolt Metric: M12X1,75

Steel Type

RODRUNNER REF NO: LS-CD-1006A ADAPTABLE CADILLAC

Stabilizer Bar Link

Weight: 0,313

CT4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st gen 2020- Front Right 20887087

Length: 225 Bolt Metric: M12X1,75

Steel Type

www.rodrunnerparts.com 4



May 2023

RODRUNNER REF NO: LS-CD-1007A ADAPTABLE CADILLAC

Stabilizer Bar Link

Weight: 0,313

CTS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2014-2019 Front Left 20887086

Length: 225 Bolt Metric: M12X1,75

Steel Type

RODRUNNER REF NO: LS-CD-1007A ADAPTABLE CADILLAC

Stabilizer Bar Link

Weight: 0,313

ATS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st gen 2013-2019 Front Left 20887086

Length: 225 Bolt Metric: M12X1,75

Steel Type

www.rodrunnerparts.com 5



May 2023

RODRUNNER REF NO: LS-CD-1007A ADAPTABLE CADILLAC

Stabilizer Bar Link

Weight: 0,313

CT5

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st gen 2020- Front Left 20887086

Length: 225 Bolt Metric: M12X1,75

Steel Type

RODRUNNER REF NO: LS-CD-1007A ADAPTABLE CADILLAC

Stabilizer Bar Link

Weight: 0,313

CT4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st gen 2020- Front Left 20887086

Length: 225 Bolt Metric: M12X1,75

Steel Type

www.rodrunnerparts.com 6



May 2023

RODRUNNER REF NO: LS-CI-676 ADAPTABLE CITROEN

Stabilizer Bar Link

Weight: 0,158

JUMPY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

K0 2016- Rear 9805621380

Length: 80

RODRUNNER REF NO: LS-CI-676 ADAPTABLE CITROEN

Stabilizer Bar Link

Weight: 0,158

SPACETOURER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2016- Rear 9805621380

Length: 80

www.rodrunnerparts.com 7



May 2023

RODRUNNER REF NO: LS-CI-676 ADAPTABLE OPEL

Stabilizer Bar Link

Weight: 0,158

VIVARO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2018- Rear 9805621380

Length: 80

RODRUNNER REF NO: LS-CI-676 ADAPTABLE PEUGEOT

Stabilizer Bar Link

Weight: 0,158

EXPERT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

V 2016- Rear 9805621380

Length: 80

www.rodrunnerparts.com 8



May 2023

RODRUNNER REF NO: LS-CI-676 ADAPTABLE TOYOTA

Stabilizer Bar Link

Weight: 0,158

PROACE VERSO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2016- Rear 9805621380

Length: 80

RODRUNNER REF NO: TR-CI-681 ADAPTABLE CITROEN

Tie Rod End

Weight: 0,592

C4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

C41 2020- Front Right 1680446380

Length: 153,5 Bolt Metric: M10X1,25 Housing Metric: M14X1,5

www.rodrunnerparts.com 9



May 2023

RODRUNNER REF NO: TR-CI-682 ADAPTABLE CITROEN

Tie Rod End

Weight: 0,592

C4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

C41 2020- Front Left 1680446480

Length: 153,5 Bolt Metric: M10X1,25 Housing Metric: M14X1,5

RODRUNNER REF NO: LS-F-400A ADAPTABLE FIAT

Stabilizer Bar Link

Weight: 0,293

500X

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

334 2016- Rear 53403319

Length: 184 Bolt Metric: M12X1,25

Steel Type

www.rodrunnerparts.com 10



May 2023

RODRUNNER REF NO: LS-F-400A ADAPTABLE JEEP

Stabilizer Bar Link

Weight: 0,293

RENEGADE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

BU 2015– Rear 53403319

Length: 184 Bolt Metric: M12X1,25

Steel Type

RODRUNNER REF NO: TC-FO-1268K2 ADAPTABLE FORD

Control Arm and Ball Joint

Weight: 8,264

FLEX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2009-2012 Front Right
Lower

BA5Z3078A, 9G1Z3C403B

Length: 329 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-FD-BS248
Control Arm

Bushing
Front Lower

Inner
FA5Z3078A*, FA5Z3079A*

BC-FD-BS286
Control Arm

Bushing
Front Lower
Rearward

K200364, 9G1Z3C339B,
9G1Z3C403B

www.rodrunnerparts.com 11



May 2023

RODRUNNER REF NO: TC-FO-1268K2 ADAPTABLE FORD

Control Arm and Ball Joint

Weight: 8,264

TAURUS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

6th Gen 2010-2016 Front Right
Lower

BA5Z3078A, 9G1Z3C403B

Length: 329 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-FD-BS248
Control Arm

Bushing
Front Lower

Inner
FA5Z3078A*, FA5Z3079A*

BC-FD-BS286
Control Arm

Bushing
Front Lower
Rearward

K200364, 9G1Z3C339B,
9G1Z3C403B

RODRUNNER REF NO: TC-FO-1268K2 ADAPTABLE LINCOLN

Control Arm and Ball Joint

Weight: 8,264

MKT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2009-2019 Front Right
Lower

BA5Z3078A, 9G1Z3C403B

Length: 329 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-FD-BS248
Control Arm

Bushing
Front Lower

Inner
FA5Z3078A*, FA5Z3079A*

BC-FD-BS286
Control Arm

Bushing
Front Lower
Rearward

K200364, 9G1Z3C339B,
9G1Z3C403B

www.rodrunnerparts.com 12



May 2023

RODRUNNER REF NO: TC-FO-1269K2 ADAPTABLE FORD

Control Arm and Ball Joint

Weight: 8,264

FLEX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2009-2012 Front Left
Lower

BA5Z3079A, 9G1Z3C403B

Length: 329 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-FD-BS248
Control Arm

Bushing
Front Lower

Inner
FA5Z3078A*, FA5Z3079A*

BC-FD-BS286
Control Arm

Bushing
Front Lower
Rearward

K200364, 9G1Z3C339B,
9G1Z3C403B

RODRUNNER REF NO: TC-FO-1269K2 ADAPTABLE FORD

Control Arm and Ball Joint

Weight: 8,264

TAURUS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

6th Gen 2010-2016 Front Left
Lower

BA5Z3079A, 9G1Z3C403B

Length: 329 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-FD-BS248
Control Arm

Bushing
Front Lower

Inner
FA5Z3078A*, FA5Z3079A*

BC-FD-BS286
Control Arm

Bushing
Front Lower
Rearward

K200364, 9G1Z3C339B,
9G1Z3C403B

www.rodrunnerparts.com 13



May 2023

RODRUNNER REF NO: TC-FO-1269K2 ADAPTABLE LINCOLN

Control Arm and Ball Joint

Weight: 8,264

MKT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2009-2019 Front Left
Lower

BA5Z3079A, 9G1Z3C403B

Length: 329 Bolt Metric: M16X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-FD-BS248
Control Arm

Bushing
Front Lower

Inner
FA5Z3078A*, FA5Z3079A*

BC-FD-BS286
Control Arm

Bushing
Front Lower
Rearward

K200364, 9G1Z3C339B,
9G1Z3C403B

RODRUNNER REF NO: TC-FO-1778 ADAPTABLE FORD

Control Arm and Ball Joint

Weight: 2,35

RANGER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

T6 2019- Front Right
Upper

KB3Z3084A

Length: 208 Bolt Metric: M12X1,75

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-FO-1244 Ball Joint Front Upper KB3Z3084A*, KB3Z3085A*

USA Market

www.rodrunnerparts.com 14



May 2023

RODRUNNER REF NO: TC-FO-1779 ADAPTABLE FORD

Control Arm and Ball Joint

Weight: 2,35

RANGER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

T6 2019- Front Left
Upper

KB3Z3085A

Length: 208 Bolt Metric: M12X1,75

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-FO-1244 Ball Joint Front Upper KB3Z3084A*, KB3Z3085A*

USA Market

RODRUNNER REF NO: TR-H-1151 ADAPTABLE HONDA

Tie Rod End

Weight: 0,486

HR-V

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

RV5 2022- Front Right 535403M0003

Length: 165 Bolt Metric: M12X1,25 Housing Metric: M14X1,5

e:HEV

www.rodrunnerparts.com 15



May 2023

RODRUNNER REF NO: TR-H-1152 ADAPTABLE HONDA

Tie Rod End

Weight: 0,486

HR-V

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

RV5 2022- Front Left 535603M0003

Length: 165 Bolt Metric: M12X1,25 Housing Metric: M14X1,5

e:HEV

RODRUNNER REF NO: TC-H-1348 ADAPTABLE HONDA

Lateral Arm

Weight: 1,879

CR-V

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

RW1-
RW8/RT5-

2017–2022 Rear Upper 52510TLAA01

Length: 310

www.rodrunnerparts.com 16



May 2023

RODRUNNER REF NO: TC-H-1348 ADAPTABLE HONDA

Lateral Arm

Weight: 1,879

HR-V

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

RV5 2022- Rear Upper 52510TLAA01

Length: 310

RODRUNNER REF NO: TC-H-1358 ADAPTABLE HONDA

Lateral Arm

Weight: 1,726

ACCORD

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

10th Gen 2018-2022 Rear Right
Upper

52510TVAA00

Length: 309,5

www.rodrunnerparts.com 17



May 2023

RODRUNNER REF NO: TC-H-1359 ADAPTABLE HONDA

Lateral Arm

Weight: 1,726

ACCORD

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

10th Gen 2018-2022 Rear Left
Upper

52520TVAA00

Length: 309,5

RODRUNNER REF NO: LS-I-906 ADAPTABLE ISUZU

Stabilizer Bar Link

Weight: 0,311

TROOPER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1992-2002 Rear MK80300, 8970181251,
8970181252

Length: 204 Bolt Metric: M10X1,25

www.rodrunnerparts.com 18



May 2023

RODRUNNER REF NO: TC-JA-1178 ADAPTABLE JAGUAR

Control Arm and Ball Joint

Weight: 0,904

XJ

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X350 2003-2007 Front Right
Upper

C2C41960

Length: 203,1 Bolt Metric: M12X1,75

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-JG-BS023
Control Arm

Bushing
Front Upper C2D36804*, C2D36806*

RODRUNNER REF NO: TC-JA-1179 ADAPTABLE JAGUAR

Control Arm and Ball Joint

Weight: 0,904

XJ

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X350 2003-2007 Front Left
Upper

C2C41961

Length: 203,1 Bolt Metric: M12X1,75

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-JG-BS023
Control Arm

Bushing
Front Upper C2D36804*, C2D36806*

www.rodrunnerparts.com 19



May 2023

RODRUNNER REF NO: LS-JE-376A ADAPTABLE JEEP

Stabilizer Bar Link

Weight: 0,309

COMPASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

MP/552 2017- Rear 68273965AC

Length: 220 Bolt Metric: M12X1,25

Steel Type

RODRUNNER REF NO: LS-JE-376A ADAPTABLE JEEP

Stabilizer Bar Link

Weight: 0,309

RENEGADE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

BU 2015– Rear 68273965AC

Length: 220 Bolt Metric: M12X1,25

Steel Type

www.rodrunnerparts.com 20



May 2023

RODRUNNER REF NO: LS-M-1096 ADAPTABLE MERCEDES

Stabilizer Bar Link

Weight: 0,434

GLE-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W167 2019- Rear Right 1673203204, 1673208800

Length: 123 Bolt Metric: M14X1,5

RODRUNNER REF NO: LS-M-1096 ADAPTABLE MERCEDES

Stabilizer Bar Link

Weight: 0,434

GLS-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X167 2020- Rear Right 1673203204, 1673208800

Length: 123 Bolt Metric: M14X1,5

www.rodrunnerparts.com 21



May 2023

RODRUNNER REF NO: LS-M-1097 ADAPTABLE MERCEDES

Stabilizer Bar Link

Weight: 0,434

GLE-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

W167 2019- Rear Left 1673203104, 1673208700

Length: 123 Bolt Metric: M14X1,5

RODRUNNER REF NO: LS-M-1097 ADAPTABLE MERCEDES

Stabilizer Bar Link

Weight: 0,434

GLS-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X167 2020- Rear Left 1673203104, 1673208700

Length: 123 Bolt Metric: M14X1,5

www.rodrunnerparts.com 22



May 2023

RODRUNNER REF NO: TC-MA-969 ADAPTABLE MAZDA

Lateral Arm

Weight: 1,107

626

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

GF/GW 1997-2002 Rear Forward GE4T28620

Length: 544,2

RODRUNNER REF NO: BC-ME-BS295 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 0,787

EQA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2021- Front Inner 2473308802*, 2473308702*

Length: 178

TC-M-1218
Control Arm

and Ball Joint
Assembly

Front Right 2473308802

TC-M-1098
Control Arm

and Ball Joint
Assembly

Front Right
Lower

1773307400

www.rodrunnerparts.com 23



May 2023

RODRUNNER REF NO: BC-ME-BS295 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 0,787

GLA-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

H247 2020- Front Inner 2473308802*, 2473308702*

Length: 178

TC-M-1218
Control Arm

and Ball Joint
Assembly

Front Right 2473308802

TC-M-1098
Control Arm

and Ball Joint
Assembly

Front Right
Lower

1773307400

RODRUNNER REF NO: BC-ME-BS295 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 0,787

GLB-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X247 2019- Front Inner 2473308802*, 2473308702*

Length: 178

TC-M-1218
Control Arm

and Ball Joint
Assembly

Front Right 2473308802

TC-M-1098
Control Arm

and Ball Joint
Assembly

Front Right
Lower

1773307400

www.rodrunnerparts.com 24



May 2023

RODRUNNER REF NO: BC-ME-BS296 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 0,787

EQA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2021- Front Outer 2473308802*, 2473308702*

Length: 178

TC-M-1219
Control Arm

and Ball Joint
Assembly

Front Left 2473308702

TC-M-1099
Control Arm

and Ball Joint
Assembly

Front Left
Lower

1773307300

RODRUNNER REF NO: BC-ME-BS296 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 0,787

GLA-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

H247 2020- Front Outer 2473308802*, 2473308702*

Length: 178

TC-M-1219
Control Arm

and Ball Joint
Assembly

Front Left 2473308702

TC-M-1099
Control Arm

and Ball Joint
Assembly

Front Left
Lower

1773307300

www.rodrunnerparts.com 25



May 2023

RODRUNNER REF NO: BC-ME-BS296 ADAPTABLE MERCEDES

Control Arm Bushing

Weight: 0,787

GLB-CLASS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

X247 2019- Front Outer 2473308802*, 2473308702*

Length: 178

TC-M-1219
Control Arm

and Ball Joint
Assembly

Front Left 2473308702

TC-M-1099
Control Arm

and Ball Joint
Assembly

Front Left
Lower

1773307300

RODRUNNER REF NO: TC-MI-828 ADAPTABLE MITSUBISHI

Control Arm and Ball Joint

Weight: 4,524

GRANDIS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

NA/BA 2004-2011 Front Right
Lower

4013A236

Length: 340,7

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-MI-744 Ball Joint Front Lower 4013A236*, 4013A235*

www.rodrunnerparts.com 26



May 2023

RODRUNNER REF NO: TC-MI-829 ADAPTABLE MITSUBISHI

Control Arm and Ball Joint

Weight: 4,524

GRANDIS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

NA/BA 2004-2011 Front Left
Lower

4013A235

Length: 340,7

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-MI-744 Ball Joint Front Lower 4013A236*, 4013A235*

RODRUNNER REF NO: TC-N-1448 ADAPTABLE NISSAN

Control Arm and Ball Joint

Weight: 2,919

QASHQAI

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

J12 2021- Front Right
Lower

545006UA0A

Length: 405,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-NI-BS168
Control Arm

Bushing
Front Lower

Inner
545006UA0A*, 545016UA0A*

BC-NI-BS169
Control Arm

Bushing
Front Lower

Outer
545006UA0A*, 545016UA0A*

www.rodrunnerparts.com 27



May 2023

RODRUNNER REF NO: TC-N-1449 ADAPTABLE NISSAN

Control Arm and Ball Joint

Weight: 2,919

QASHQAI

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

J12 2021- Front Left
Lower

545016UA0A

Length: 405,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-NI-BS168
Control Arm

Bushing
Front Lower

Inner
545006UA0A*, 545016UA0A*

BC-NI-BS169
Control Arm

Bushing
Front Lower

Outer
545006UA0A*, 545016UA0A*

RODRUNNER REF NO: BC-NI-BS168 ADAPTABLE NISSAN

Control Arm Bushing

Weight: 0,172

QASHQAI

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

J12 2021- Front Lower
Inner

545006UA0A*, 545016UA0A*

Length: 50

TC-N-1448
Control Arm

and Ball Joint
Front Right

Lower
545006UA0A

TC-N-1449
Control Arm

and Ball Joint
Front Left

Lower
545016UA0A

www.rodrunnerparts.com 28



May 2023

RODRUNNER REF NO: BC-NI-BS169 ADAPTABLE NISSAN

Control Arm Bushing

Weight: 0,621

QASHQAI

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

J12 2021- Front Lower
Outer

545006UA0A*, 545016UA0A*

Length: 75

TC-N-1448
Control Arm

and Ball Joint
Front Right

Lower
545006UA0A

TC-N-1449
Control Arm

and Ball Joint
Front Left

Lower
545016UA0A

RODRUNNER REF NO: LS-N-926A ADAPTABLE NISSAN

Stabilizer Bar Link

Weight: 0,478

QASHQAI

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

J12 2021- Front 546186UA0A

Length: 300 Bolt Metric: M12X1,25

Steel Type

www.rodrunnerparts.com 29



May 2023

RODRUNNER REF NO: LS-O-517A ADAPTABLE OPEL

Stabilizer Bar Link

Weight: 0,479

ASTRA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

J 2009-2015 Front 13219141

Length: 304 Bolt Metric: M12X1,75

Steel Type

RODRUNNER REF NO: LS-O-517A ADAPTABLE OPEL

Stabilizer Bar Link

Weight: 0,479

INSIGNIA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G09 2008-2017 Front 13219141

Length: 304 Bolt Metric: M12X1,75

Steel Type

www.rodrunnerparts.com 30



May 2023

RODRUNNER REF NO: LS-O-517A ADAPTABLE OPEL

Stabilizer Bar Link

Weight: 0,479

ZAFIRA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

C 2011- Front 13219141

Length: 304 Bolt Metric: M12X1,75

Steel Type

RODRUNNER REF NO: LS-O-517A ADAPTABLE BUICK

Stabilizer Bar Link

Weight: 0,479

LACROSSE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2010-2016 Front 13219141

Length: 304 Bolt Metric: M12X1,75

Steel Type

www.rodrunnerparts.com 31



May 2023

RODRUNNER REF NO: LS-O-517A ADAPTABLE BUICK

Stabilizer Bar Link

Weight: 0,479

REGAL

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

5th Gen 2009-2017 Front 13219141

Length: 304 Bolt Metric: M12X1,75

Steel Type

YEAR ONLY
2011-2012

RODRUNNER REF NO: LS-O-517A ADAPTABLE BUICK

Stabilizer Bar Link

Weight: 0,479

VERANO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st gen 2012-2017 Front 13219141

Length: 304 Bolt Metric: M12X1,75

Steel Type

www.rodrunnerparts.com 32



May 2023

RODRUNNER REF NO: LS-O-517A ADAPTABLE CHEVROLET

Stabilizer Bar Link

Weight: 0,479

CRUZE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

J300 2009-2016 Front 13219141

Length: 304 Bolt Metric: M12X1,75

Steel Type

RODRUNNER REF NO: LS-O-517A ADAPTABLE CHEVROLET

Stabilizer Bar Link

Weight: 0,479

MALIBU

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

7th Gen 2008-2012 Front 13219141

Length: 304 Bolt Metric: M12X1,75

Steel Type

YEAR ONLY
2011-2012

www.rodrunnerparts.com 33



May 2023

RODRUNNER REF NO: LS-O-517A ADAPTABLE CHEVROLET

Stabilizer Bar Link

Weight: 0,479

VOLT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2010-2015 Front 13219141

Length: 304 Bolt Metric: M12X1,75

Steel Type

RODRUNNER REF NO: TC-PO-548 ADAPTABLE PORSCHE

Control Arm and Ball Joint

Weight: 4,901

PANAMERA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

970 2009-2016 Front Right
Lower

97034105424

Length: 348 Bolt Metric: M14X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-PO-BS010
Control Arm

Bushing
Front Lower

Inner
97034105424*, 97034105324*

BC-PO-BS004
Control Arm

Bushing
Front Uper 97034105110*, 97034105103*

Facelift Version

BC-PO-KT002
Control Arm
Bushing Kit

Front Lower 97034105424*, 97034105324*

www.rodrunnerparts.com 34



May 2023

RODRUNNER REF NO: TC-PO-549 ADAPTABLE PORSCHE

Control Arm and Ball Joint

Weight: 4,901

PANAMERA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

970 2009-2016 Front Left
Lower

97034105324

Length: 348 Bolt Metric: M14X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-PO-BS010
Control Arm

Bushing
Front Lower

Inner
97034105424*, 97034105324*

BC-PO-BS004
Control Arm

Bushing
Front Uper 97034105110*, 97034105103*

Facelift Version

BC-PO-KT002
Control Arm
Bushing Kit

Front Lower 97034105424*, 97034105324*

www.rodrunnerparts.com 35



May 2023

RODRUNNER REF NO: BC-PO-BS004 ADAPTABLE PORSCHE

Control Arm Bushing

PANAMERA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

970 2009-2016 Front Lower
Inner

97034105424*, 97034105324*

TC-PO-508
Control Arm &
Ball Joint Assy

Front Right
Lower

97034105404

TC-PO-509
Control Arm &
Ball Joint Assy

Front Left
Lower

97034105304

TC-PO-548
Control Arm

and Ball Joint
Front Right

Lower
97034105424

TC-PO-549
Control Arm

and Ball Joint
Front Left

Lower
97034105324

www.rodrunnerparts.com 36



May 2023

RODRUNNER REF NO: BC-PO-BS010 ADAPTABLE PORSCHE

Control Arm Bushing

Weight: 5,321

PANAMERA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

970 2009-2016 Front Lower
Inner

97034105424*, 97034105324*

Length: 80

TC-PO-548
Control Arm

and Ball Joint
Front Right

Lower
97034105424

TC-PO-549
Control Arm

and Ball Joint
Front Left

Lower
97034105324

RODRUNNER REF NO: BC-PO-KT002 ADAPTABLE PORSCHE

Control Arm Bushing Kit

PANAMERA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

970 2009-2016 Front Lower 97034105424*, 97034105324*

TC-PO-548
Control Arm

and Ball Joint
Front Right

Lower
97034105424

TC-PO-549
Control Arm

and Ball Joint
Front Left

Lower
97034105324

www.rodrunnerparts.com 37



May 2023

RODRUNNER REF NO: TC-TS-228 ADAPTABLE TESLA

Lateral Arm

Weight: 2,994

MODEL 3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2017- Rear Lower 104445100F

Length: 503

RODRUNNER REF NO: TC-TS-228 ADAPTABLE TESLA

Lateral Arm

Weight: 2,994

MODEL Y

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2020- Rear Lower 104445100F

Length: 503

www.rodrunnerparts.com 38



May 2023

RODRUNNER REF NO: KT-TS-228K ADAPTABLE TESLA

Lateral Arm Kit

Weight: 3,36

MODEL 3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2017- Rear Lower 104445100F

Length: 503

RODRUNNER REF NO: KT-TS-228K ADAPTABLE TESLA

Lateral Arm Kit

Weight: 3,36

MODEL Y

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2020- Rear Lower 104445100F

Length: 503

www.rodrunnerparts.com 39



May 2023

RODRUNNER REF NO: BJ-V-954K ADAPTABLE VOLKSWAGEN

Ball Joint Kit

Weight: 0,564

GOLF

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

MK8 2020- Front Right 5WA407366

Length: 57 Bolt Metric: M12X1,5

From 20.07.2020/PR Nr:
1ZE

RODRUNNER REF NO: BJ-V-954K ADAPTABLE SEAT

Ball Joint Kit

Weight: 0,564

LEON

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

KL1/KL8 2020- Front Right 5WA407366

Length: 57 Bolt Metric: M12X1,5

From 20.07.2020/PR Nr:
1ZE

www.rodrunnerparts.com 40



May 2023

RODRUNNER REF NO: BJ-V-954K ADAPTABLE SEAT

Ball Joint Kit

Weight: 0,564

IBIZA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

6F/KJ1 2017- Front Right 5WA407366

Length: 57 Bolt Metric: M12X1,5

From 12.2021

RODRUNNER REF NO: BJ-V-955K ADAPTABLE VOLKSWAGEN

Ball Joint Kit

Weight: 0,564

GOLF

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

MK8 2020- Front Left 5WA407365

Length: 57 Bolt Metric: M12X1,5

From 20.07.2020/PR Nr:
1ZE

www.rodrunnerparts.com 41



May 2023

RODRUNNER REF NO: BJ-V-955K ADAPTABLE SEAT

Ball Joint Kit

Weight: 0,564

LEON

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

KL1/KL8 2020- Front Left 5WA407365

Length: 57 Bolt Metric: M12X1,5

From 20.07.2020/PR Nr:
1ZE

RODRUNNER REF NO: BJ-V-955K ADAPTABLE SEAT

Ball Joint Kit

Weight: 0,564

IBIZA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

6F/KJ1 2017- Front Left 5WA407365

Length: 57 Bolt Metric: M12X1,5

From 12.2021

www.rodrunnerparts.com 42


